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PART A —(10x 9 =20 ma_rk.s')

e W_hét is _DVS'I:? Give its illﬁp‘c;)rﬁance.':-

9. 7 Meﬁt'iOI:l‘ thg. two b'als-ic épprbachéé_ to area fi_lling on féster systems.

3. - Whatis Ithe peed of homogeneous coc#d_inai;es? E

4, Whaf are the types of clipping?.

5 _' Définé blobby object. N

B '_6_. Differentiate -bet-we.e'n papa]lél and perspective projections.
- '? | Wl{aﬁ is 't-neal-nt. by illﬁlnination?' a

8. - Whatis HSY colormodéi? |

‘. 9. . What is M(él‘phill-g? |

' 10. Mention the characteristics of a fractal object.”
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PART B — (5 x 13 = 65 marks)

With smtable chagram “describe ‘the archltectme of a raster-graphics

system w1th a dlsplay processor. - , - (13)
Or S )
.Explam the Bresenham S hne dr awm‘g algonthm w1th sultable example
‘ : : (13)
D1scuss the various two dnnensmnal bas1c tlansfmmatmns with suitable _
figures B o : , , (13)
Explain the Weiler‘-Atherﬁon Polygon Clipping. o a (13)
Déscriiie t'he quadratic surfaces in detail. B R o (_13)
. . Or - . . T

Explam the depth buffel method of detectlng the v131ble surfaces. o (13) ' f - .' ‘

(i) Dlscuss about the XY color model. i o L : (6)_.
e (11) Wnte a. note on CIE chromatlclty dlaglam ‘ — - (7')1 .
L Or e |
Write a note on': . ' _ ' o _ _
@ RGBcolor model e
(i) CMY color model L o Y ) T
'Explaip' the steps ihvolvéd in the design of anim.atio’n sequence, (13)
| _ ‘ Or A ‘
Bneﬂy descrlbe the followmg _ _ i _
) RayTracmg a e ' L (8)
o Gy Koch curve S | L '_ R G |
PART C — (l X 15 = 15 marks) 7
Use the Cohen ‘Sutherland algouthm to clip. hne P1(70 20) and -
- P2(100, 10) against a window lower left hand corner (50, 10) and upper'
right hand corner (80, 40)... * - . e (15)
_Suppose ‘we have a B- sphne CUIVG of degree 8 with a knot vector as
follows: - - _ o : - (L)) E
u0 to u3 | ud u5 'ua_ u7 - u8_ to ull
0 0g 0.‘4_ 06 08 . ‘1

Insert a new knot t = 0.5, find new control points and new knot vegtor. .
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